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1. [12 53] F&E%(Order) ~ K& (Degree) #IEh > 5] ODE HYFEE ~ REUR? 182 57

1-1. 2x+3y—2)dx+@Bx—4y+1Ddy=0 [&E&: X
1-2. y"+3y3+2=e* [BE: R
1-3.  x? Z—z +2xy = x3 PEEC REe_
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2. [8 514 BTTRI%

d N — o
d—i =1-xy FaCdiTREaE (3?) B (2, -1 R R - HZRE MEGERTIE Y isocline

3. KHT%I ODE Hyf# » sEMcREE K 1 General solution B¢ Particular solution:
3-1.[541] A+ x)dy —ydx =0

3-2.[10 53] (x? + 1)dx = (y?> + 1)dy

3.3 [10 ﬁj\] dx = 3cos2y+8sin4y

x2+x

3-4.[10 53] 222+ 2xy = 3

3-5.[10 53] Z+2=1 R ARSET 1x)

3-6.[10457] y"—6y'+8y =10

3-7.[1543] y" —y"+ 20y = 100x* , (yn:5 57, yp: 10 53)

3-8.[10 47] (5x + 4y)dx + (4x —8y3)dy =0
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Auxiliary equation: m*+am+b =0
. —a+Va?-4b
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va? — 4b fEH = fE A At

<I>HHEFR: my,m,

ODE @ﬁﬁ% y = Clemlx + Czemzx

<>EHEMR: m

ODE ##f# Fy: y = (¢ + cox)e™

B3> (HHHIER): o + wi

ODE #fi# Fy: y = e®™ (A cos wx + B sin wx)

K v
Undetermined coefficients method (R E(4H0%):
R(x) yp a2
k A
pax Ao
cos bx B¥, sin bx A cos bx + B sin bx
x" Apx™ + A x™ 1+ L+ Ajxt + A
cx™ Apx™ + A x™ 1+ L+ Ajxt + A
x"e™ e (Apxt + Ap_1x™ T+ L+ Axt + Ap)
cx™e™ e (Apxt + Ap_1x™ T+ L+ Axt + Ap)
x"cosbhx B x"sinbx | (Apx™ + Ap_x™ 1+ .+ Ajxt + Ap) cosbx +
(Bpx™ 4+ Bp_1x™ 1 + ...+ B;x* + By) sin bx

#¥:a,b, ¢,k n, A B B



